You are expected to write a function which calculates a worker's raised salary using progressive raise. Raised salary of a worker will be calculated according to the following formula:


salary = salary + salary * (raise percentage)
Raises are pre-defined(see below) according to current salary of the worker.
For instance,if worker's current salary is less than or equal to 1000 ytl, then its salary is increased %15. 
Raises are defined below:

    0 < salary <= 1000
: 15%

1000 < salary <= 2000
: 10%

2000 < salary <= 3000
:  5%

3000 < salary:  2.5% 

Your function already gets the salary as a parameter. You should calculate and print the raised salary value in your function. 















